

Nicholas D. Ifill

11934 Willowbrook Ave Los Angeles CA 90059
e. nicholasifill17@gmail.com c. 202 826 0589

Objective:

I am a people person with outstanding customer service skills. Willing to be flexible and has reliable transport.

Education:

8/08 –06/12 **H.D. Woodson STEM High School** Washington, DC
-Received High School Diploma June 08, 2012

Experience:

Experience:

Haagen-Dazs **Cashier** **2016**

Take orders at cash register and promote loyalty membership to customers. Make shakes, smoothies and frappes, and mop floors, take out trash when necessary. Inspect ice cream and toppings for anything that would mess with the product.

Nestle Waters **Forklift Operator** **2015-2016**

Duties include loading trucks with water and various drinks using electric pallet jack. Sort empty and full bottles by consolidating them in the right order. Clean up any trash in facility and use forklift to place pallets of product on trucks. Drive and park delivery trucks in facility to be loaded, and back box trucks into dock.

Volunteer Experience:

Joy Cleaning Team **2010-2013**

1-2 times a month I was cleaning Church of Jesus Christ. Duties included mopping bathrooms and stairwells, wiping down and cleaning out church pews, vacuuming and pulling trash.

References:

Myra Washington Joy Cleaning Team Leader 202-388-1146

Bill Evans FedEx Ground Contractor 240-508-3336

Achievements:

- Illustrator for High School Newspaper *The Insider*
- Sold my copyrighted stories.

Cashier Test

Score / 15

A

1) A roll of quarters is worth?

- a) \$5.00
- b) \$10.00
- c) \$15.00
- d) \$20.00

f

10

C

2) A roll of dimes is worth?

- a) \$5.00
- b) \$4.00
- c) \$3.00
- d) \$2.00

f

10

D

3) A roll of nickels is worth?

- a) \$8.00
- b) \$6.00
- c) \$4.00
- d) \$2.00

f

10

O

4) A roll of pennies is worth?

- a) \$1.00
- b) \$0.75
- c) \$0.50
- d) \$0.25

f

10

B

5) What does POS stand for?

- a) Patience over standards
- b) Percentage of sales
- c) Point of sales
- d) People over service

f

10

C

6) What is the current sales tax rate in your city _____?

10

C

7) A customer buys a bowl of soup for \$1.25, an apple \$0.90 and a soda is \$0.79. If you are given \$10.00 how much change should you give back?

- a) \$4.06
- b) \$2.06
- c) \$7.06
- d) \$5.06

$$\begin{array}{r} 1.25 \\ ,90 \\ + .79 \\ \hline 2.94 \end{array}$$

$$\begin{array}{r} 10.00 \\ - 2.94 \\ \hline 7.06 \end{array}$$

10

b

8) A customer buys two shirts for 10.50 each and two ball caps for \$7.25 each. If you are given \$50.00 how much change should you give back?

- a) \$19.50
- b) \$14.50
- c) \$9.50
- d) \$4.50

$$\begin{array}{r} 10.50 \\ \times 2 \\ \hline 21.00 \end{array}$$

$$\begin{array}{r} 7.25 \\ \times 2 \\ \hline 14.50 \end{array}$$

$$\begin{array}{r} 21.00 \\ + 14.50 \\ \hline 35.50 \end{array}$$

10

d

9) A customer buys soda for \$3.75 and a hot dog for \$4.25. If you are given \$20.00 how much change should you give back?

- a) \$6.00
- b) \$8.00
- c) \$10.00
- d) \$12.00

$$\begin{array}{r} 3.75 \\ + 4.25 \\ \hline 8.00 \end{array}$$

10

a

10) A customer buys two hamburgers at \$3.75 each, two bags of chips at \$1.25 each, two cookies at \$2.50 each and two sodas at \$3.25 each. If you are given \$100.00 how much change should you give back?

- a) \$78.50
- b) \$58.50
- c) \$38.50
- d) \$28.50

$$\begin{array}{r} 3.75 \\ \times 2 \\ \hline 7.50 \end{array}$$

$$\begin{array}{r} 1.25 \\ \times 2 \\ \hline 2.50 \end{array}$$

$$\begin{array}{r} 2.50 \\ \times 2 \\ \hline 5.00 \end{array}$$

$$\begin{array}{r} 3.25 \\ \times 2 \\ \hline 6.50 \end{array}$$

$$\begin{array}{r} 100.00 \\ - 78.50 \\ \hline 21.50 \end{array}$$

10

a 11) Counterfeit pens should be used on which three denominations?

- a) \$20, \$50, \$100
- b) \$10, \$20, \$50
- c) \$5, \$50, \$100
- d) \$10, \$20, \$50

10

b 12) How many times should you count change when giving it to the customer?

- a) one
- b) two
- c) three
- d) no need to count

Question & Answer:

13) What is the minimum age for legal alcohol purchases? 21

14) What are the acceptable forms of ID for alcohol purchases? Drivers license, including ID

15) How many \$20 bills are in a bank band? 15

8